Split Case Double Suction Centrifugal Pump

SPLT & SPLT.M SERIES (50 Hz2)

Ex) ATEX

TECHNICAL MANUAL

KR TFRO

Eylhl/2015



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump
General Information

Fields of Application

Water supply and booster stations.
Irrigation, overhead irrigation.
Drainage stations.

Power stations.

Industrial water supply systems.
Firefighting systems.

¢ Marine applications.

e General applications in refineries.

Pumped Liquids

Thin, clean, non-aggressive and non-explosive liquids
free from large solid particles or fibers.

For special applications, please consult to MAS DAF
MAKINA SAN. A.S.

Design

¢ Single-stage axially split casing pumps with double
entry and radial impeller.

e Double entry, closed impeller is hydraulically thrust

compensated.

Lower casing is in-line design, suction and discharge

nozzles are on the same line.

Upper casing is self-aligning and it is easy to mount.

The NPSH values are reduced and high suction lifts

are possible thanks to double suction impeller.

o Two different designs can be applicable:

1. Long shaft design: For soft packing stuffing box, the
length of the pump shaft is longer. It is also possible
to use mechanical seal on this design.

2. Short shaft design: For mechanical seal
applications, shaft length can be reduced. Therefore,
compact and rigid pumps are available.

e Pump and motor are separate components connected
to each other via flexible coupling and mounting on a
base plate. It is also possible to couple the pump to the
diesel engine.

Bearings

For pump groups A, B and C, there are ball bearings at
the both dead and drive end of the pump. For pump
groups D, E and F, a cylindrical roller bearing is installed
at the drive end of the pump and there is a ball bearing at
the dead end of the pump.

MAS |DAF

Mas Grup

Shaft Seal

e Uncooled soft packed stuffing box with lantern ring is
essential for the long shaft design.

e There is a leakage setting device on the washing water
line of packing.

o Different types of mechanical seals are available on the
long or short shaft design pumps.

Technical Data

Suction Nozzle : DN 80... DN 250
Discharge Nozzle : DN 65...DN 200
Operating Pressure : 16 - 20 Bar

Speed Range
Capacity Range
Head Range

: 960 — 3500 rpm
:30-1800m3/h
:15-160m

Identification Code

SPLT.M 100-250 A

Design 4—/ \

Mechanical Seal
Application

Discharge Branch
Nominal Diameter (mm)

Nominal Impeller <
Diameter

Impeller Type <

SPLT 100-250 A

Design 4—'

Discharge Branch
Nominal Diameter (mm)

Nominal Impeller <
Diameter

Impeller Type <




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump m m

Interchangeability for Pumps Mas Grup

1A S Oy B D6t
2| | S 2oy — 8

L ﬁ% % - H-6—ims
R e

5 . s ﬁ% % N

6| | S s & e BT
7 1822}420 §% %

8| | W FOn— 8

o | B 205 @

10| S 05 & S-H-¢ s
11 20015 §% %

12 200400 5% % .

13| S £On &

14 2301400 Eﬁ% %

E _ A B nusu
5] | S 2Oy = O e
16 | M fOn &

e =
18 | F | 330800 ﬁ% % ]@H@E e,
19) | e FOn A

.5 CASING IMPELLER E=E——F==J—H SHAFT STUFFING BEARING @ GLAND E BEARING
— BOX HOUSING



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

MAS

DAF

Technical Advantages Mas Grup
Innovative Casing
- InHine design.
- Short distance between bearings and also High Performance Impeller
short shatt. - Minimumaxial thrust because of double
- Leak-free thanks to cormpact casing split flange suctioninpeller.
with long prestressed bolts. - Optional impeller wear rings.
- Change o the direction of rotation. ™ - Ipeller passage with excellent hydraulic
- Easy mounting of self aligning upper casing. ] charadteristics.
. 9 Aciusting Tap
Easy to Service St , / 7) ~The tap acjust the amount of
- Corrpletely sealed and dy for zero cormosion / weler going o the siffing b
- Short and rigid with negligible vibratiors. 7 - Ensilyaiustable
- Replaceable shaft protecting sleeves. /
- Asserbly without requiring adjustrment.
- Fast and easy asssembly/dsmenting of the = //M,/m.//// ]
rotor conponents due to elastically prestressed o '?'//// // 7
o /;/,,5,/
\
Y // oz
‘ 7 ,/
Jay & 0
ianl \ \\\\\\ // |ﬁ|
gﬂ/// = \|| \\\ / \\\\ \||§
é Y W///////\\\ \\\\\\\\Q\\\\\t\i{« N//\\\\\\‘//////////////////////////// %1 §
N
I (S . )
\
< ’|i\>< \\\\\\\W M- N7 O
= ’///////////// NS\ 7 N
HA \\< S N \ SN
N ////// 7 NTEERRNN\N /
\ y /BN
\
§u R \ //
// \\
Seals tailored to the application // )
- Asbestos-free gand packing meeting drinki Long Life Bearings
water quality sgnz:larplsad<I " o - Gease-lubricated ralling element bearings for
- Split glands, arple space for servidng N \§ long service life in all operating range.
- Mechanical seal applications are available. ] \\\ \r\\§§ 1 - Oosed bearirg_brad(etsfa’ low-noise and low
\\\\ \\\\\\\ vibration gperation.
\ /
Excellent Efficiency and NPSHValues | /
- Smooth surfaces inside the casing and onthe inpeller. |\ /
- Large inlet cross sectional areas for optimumsuction \ /
behaviour. \\ /
- High effidency due to replaceable casing and inpeller \ /
wear ring. AN /
- Quiet, lowwear rumning due to swirl-free intake elbow \\
with low energy loss. Ve




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

ATEX Description

ATEX Codification

ATEX -95

@ I12G /D ¢ Tx (85 °C — 200 °C)

Equipment Groups (Annex | of Directive 94/9/EC)
Group |
{minas, mine gas and dust)

MAS

DAF

Group Il

({other explosive atmospheres gas/dust)

Catagory 1 Category 2 Category 3

Category M 1 | Category M 2 G D G D G D

(gas) (dust) (gas) (dust) (gas) {dust)

{(Zone 0) | {(Zone 20) | (Zone 1) | (Zone 21) | (Zone 2) | (Zone 22)

For For For equipment For equipment "For equipment
equipment equipment providing a very high | providing a high level | providing a normal
providing a providing a lewel of protection of protection when level of protection
vary high high level of when usad in areas usad in areas whare | when used in areas
level of protection where an explosive an explosive where an explosive
protection when hkely to jatmosphare 1s very atmospheare 15 likely atmosphers is lass
when be likely to occur to ocour hikely to occur
endangerad endangerad
by an by an
axplosive axplosive
atmosphere atmosphere

TEMPERATURE CLASS

Temperature class "
. Ignition temperature of | Allowable temperature

required by the area ;

It gas or vapor classes of equipment
classification
T1 > 450 °C T1-T6
T2 >300 °C T2-T6
T3 >200 °C T3-T6
T4 >135°C T4-T6
T5 >100 °C T5-T6
T6 >85°C T6
Code | Description

The Usage in other non-mining explosive atmospheres

2. Category: High level of protection

For potentially explosive environments due to gases or vapors

Temperature class

ATEX Marking of the motor manufacturer

Mas Grup




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump
Cross-Sectional Drawing For SPLT

MAS

DAF

210 35 200 30 321 50 301 02 362 20 261 05 212 401 276 300 360 34
\
\
\
) \
\
4
‘ O
\ ]
i == ‘ Q¢$¢$
\
N ‘ ‘ AN
= AN ‘ SO SN
7. 000 TR N
I
7 | H | N
320 72 60 400 56 01 211 70 240 54 67 220
PART LIST
PART NO PART NAME PART NO PART NAME
01 Casing Lower Part 211 Key for Impeller
02 Casing Upper Part 212 Key for Wearing Ring
05 Wear Ring 220 Oil Seal
20 Impeller 240 Soft Packing
30 Bearing Housing 261 Plug
34 Bearing Cover (Dead Side) 270 Greaser
35 Bearing Cover (Motor Side) 276 Adjusting Tap
36 Bearing Housing Cover 300 Stud for Gland
50 Stuffing Box 301 Casing Stud
54 Gland 320 Hexagonal Bolt
56 Lantern Ring 321 Bolt
60 Pump Shaft 360 Nut for Gland
67 Space Sleeve 361 Nut for Bearing
70 Bushing for Seal 362 Nut for Casing Stud
72 Bushing for Bearing 363 Washer for Bearing
200 Roller Bearing 400 O-Ring (Shaft Sleeve)
201 Ball Bearing 401 O-Ring (Stuffing Box)
210 Key for Coupling

270

363

Mas Grup

36

361




SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump
Cross-Sectional Drawing For SPLT.M

MAS |DAF

Mas Grup

210 270 230 30 50 02 301 20 361 05 65 250 276 34 201363 36
\
§ \
\
\
‘ -
/ \
\ I
® | D
o —\ [ Ry
=== | o sresmivesesNigR ] [
| |
\ h \§
i \
| |
i \
\ |
i —
,,,,,, ,,,,,iiiiig”}ﬁlr ] [ I
|| I [ ‘ )
[
\
\
\
\
\
B N\ — ‘ — =
\
\ \ /
\ | /
/
\
\\ \ //
‘ / /
N \
AN Ve
N § ~ |
l ~ ~
| I e \
| [ \
320 35 200 220 58 Of 211 261 212 60 400 401 322 321 72 360
PART LIST
PART PART
NO PART NAME NO PART NAME
01 Casing Lower Part 212 Key for Wearing Ring
02 Casing Upper Part 220 Oil Seal
05 Wear Ring 230 Safety Ring
20 Impeller 250 Mechanical Seal
30 Bearing Housing 261 Plug
34 Bearing Cover (Dead Side) 270 Greaser
35 Bearing Cover (Motor Side) 276 Adjusting Tap
36 Bearing Housing Cover 301 Casing Stud
50 Stuffing Box 320 Hexagonal Bolt
58 Mech. Seal Cover 321 Bolt
60 Pump Shaft 322 Bolt for Mech. Seal Cover
65 Impeller Nut 361 Nut for Casing Stud
72 Bushing for Bearing 362 Nut for Casing Stud
200 Roller Bearing 363 Washer for Bearing
201 Ball Bearing 400 0O-Ring (Shaft Sleeve)
210 Key for Coupling 401 O-Ring (Stuffing Box)
211 Key for Impeller




SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump

Technical Data

Bearings, Stuffing-Box for SPLT (Soft Packing Design)

MAS

DAF

Mas

360300 56 02 05
01 | Casing Lower Part
;/ 02 | Casing Upper Part
/‘/ A 05 | Wearing Ring
S
N \ 20 Impgller
\ 50 | Stuffing Box
] 56 | Lantern Ring
E ——-— i
- ] 240 | Soft Packing
[
W})\\\\\\\\L\\\\\\‘ 300 | Stud for Gland
, " 360 | Nut for Gland
XN
Z
54 240 01 50 20
Bearing Bearing Soft Packing .
PumpType | \motor Side) | (Dead Side) | (@D1x@D2xbxT) (mm) Sealing
SPLT 65-250 6307 C3 6307 C3 B61xF45x8x55.5 2x(4 Soft Packing +1 Lantern Ring)
SPLT 80-250
SPLT 80-360 6308 C3 6308 C3 D75X B55x10x76 2x(5 Soft Packing +1 Lantern Ring)
SPLT 100-250
SPLT 100-315 . .
SPLT 150-250 6310 C3 6310 C3 B90XD66x12Xx75 2x(4 Soft Packing +1 Lantern Ring)
SPLT 125-400
SPLT 150-315
SPLT 150-400 . .
SPLT 150-500 NU 312 6312 C3 B106X78x14x105 2x(5 Soft Packing +1 Lantern Ring)
SPLT 200-315
SPLT 200-400
SPLT 200-500
SPLT 250-400 . .
SPLT 250-315 NU 314 6314 C3 2116X388x14x105 2x(5 Soft Packing +1 Lantern Ring)
SPLT 250-500
SPLT 350-400
SPLT 350-500 NU 316 6316 C3 B140X3100x20x140.5 | 2x(5 Soft Packing+1 Lantern Ring)
SPLT 500-500

Bearings, Stuffing-Box for SPLT.M (Compact Design with Mechanical Seal)

Bearing Bearing Mech. Seal
Pump Type (Motor Side) | (Dead Side) D'?:me;er Sealing
SPLT.M 65-250 6306 C3 6306 C3 235 M3N or MG1
SPLT.M 80-250
SPLT.M 80-360 6307 C3 6307 C3 @40 M3N or MG1
SPLT.M 100-250
SPLT.M 100-315
SPLT.M 150-250 6309 C3 6309 C3 @50 M3N or MG1
SPLT.M 125-400
SPLT.M 150-315
SPLT.M 150-400
SPLT.M 150-500 NU 311 6311 C3 @60 M3N or MG1
SPLT.M 200-315
SPLT.M 200-400
SPLT.M 200-500
SPLT.M 250-400
SPLT.M 250-315 NU 313 6313 C3 @70 M3N or MG1
SPLT.M 250-500
SPLT.M 350-400 NU 315 6315 C3 280 M3N or MG1

Grup




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump
Mechanical Seal Applications for SPLT.M

BURGMANN M3N

Single Seal

Unbalanced

Conical Spring

Dependent on direction of rotation
To EN 12756

30

220 50 20

BURGMANN MG1

Single Seal

Unbalanced

Elastomer Bellows

Independent on direction of rotation

20 50 58 220

05 250

MAS |DAF

Mas Grup

p1 : 10 Bar

t :-20...180 °C
Vg :10m/s
Axial Movement | :+1,0 mm

Part No Part Name
20 Impeller
30 Bearing Housing
50 Stuffing Box
58 Mech. Seal Cover
220 Oil Seal
250 Mechanical Seal
p1 : 12 Bar
t :-20...120 °C
Vg :10m/s
Part No Part Name
20 Impeller
05 Wearing Ring
50 Stuffing Box
58 Mech. Seal Cover
220 Oil Seal
250 Mechanical Seal




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump
Installation Types

Horizontal Installation with Diesel

N

S
N0

Vg

r

L

MAS

DAF

Mas

Horizontal Installation with Electric Motor

Vg

2

o

Direction of Rotation / Flow

-

7

CONCRETE

% GROUND
g STRAFOR

Direction of rotation anticlockwise
(Viewed from the drive end)

Direction of rotation clockwise
(Viewed from the drive end)

¢yl

& -

Grup




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump
Technical Data

Material Options

MAS |DAF

Mas Grup

Components Material. No | v | © g - | = | =
N < n N (=1 o
8 R|2|3 (3|3
o o N - - -
Casing e |lo| oo o] o
Impeller e |lo|oO o] o
Shaft e | 0| O
Casing Wear Ring e |0o|lo]|oO
Stuffing Box e |lo| oo o] o
Gland e | o o |l o e — Standard Manufacturing
Bearing Housing ° 0 — Optional
Bearing Cover °
Material Equivalent
Description DIN 17007 EN-DIN ASTM
Cast Iron 0.6025 GJL-250 (GG25) A 48 Class 40-B
Nodular Cast Iron 0.7040 GJS-400-15 (GGG40) A 536 Gr.60-40-18
Cast Bronze 2.1050.01 G-Cu Sn 10 B 584 C 90700
Chrome Steel 1.4021 X20 Cr 13 A 276 Type 420
Chrome Nickel Steel 1.4301 X5 Cr Ni 18.9 A 276 Type 304
Chrome Nickel Molybdenum Steel 1.4401 X5 Cr Ni Mo 18.10 A 276 Type 316
PN 16 Flange Dimension
DN Df T z o B
oDf mm o mmeg | mmg | Each | mmg | mm
DN 65 185 145 4 18 20
DN 80 200 160 8 18 22
DN 100 220 180 8 18 24
DN 125 250 210 8 18 26
DN 150 285 240 8 23 26
DN 200 340 295 12 23 30
DN 250 405 355 12 27 32
DN 300 460 410 12 27 32
DN 350 520 470 16 27 36
DN 400 580 525 16 30 38
PN 10 Flange Dimension
zx @
oDf DN T m?nNg m[r:1f¢ mr-rr1 [] EaZch m:1 [] mBm
DN 250 395 350 12 23 28
DN 300 445 400 12 23 28
- - DN 350 505 460 16 23 30
DN 400 565 515 16 27 32
DN 500 670 620 20 27 34

10




SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump

Technical Data

Pump Flange Classification

Pump Flanges
Type DNs (mm) DNd (mm)
(Suction) (Discharge)
65-250 100 65
80-250 125 80
80-360 125 80
100-250 150 100
100-315 150 100
150-250 200 PN 16 150
125-400 150 125
150-315 200 150
150-400 200 150
150-500 | 200 150 PN 16
200-315 250 200
200-400 250 200
200-500 250 200
250-315 300 250
250-400 300 PN 10 250
250-500 300 250
350-400 400 350
350-500 400 350
500-500 500 500 PN 10

Salmastra Kutusu Ve Salmastra Burcu O-Ring Boyutlari

ad

@ @ o

Stuffing Box O-Ring

Seal Sleeve O-Ring

MAS |DAF

Mas Grup

Pump O-Ring fBoc:xStuffmg O-Ring for Seal Sleeve
Type | @d | b 2d b

] om) | om) | O | (mm) | (mm) | OO
65-250 5 5 n 30

80-250

80-360 | 145 43

100-250

100-315 | 168 50

125-400 3

150-315

150-400 | 190 60

150-500

200-315 4 3 2
200-400

200-500

250-400 200 70

250-315

250-500 4

350-400

350-500 | 260 80

500-500

Note: There are O-rings both for stuffing boxes and seal sleeves at SPLT. However, since there is no seal sleeve, there

are only O-rings for stuffing boxes at SPLT.M.

11




SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump

Technical Data

Keys for SPLT and SPLT.M (DIN 6885 A)

Pump Type Impg::«:)Key Couz:::% Key Material
65-250 10x8x40 8x7x55
80-250 12x8x116 10x8x75
80-360 12x8x116 10x8x75
100-250 12x8x116 10x8x75
100-315 14x9x132 14x9x105 St 50
125-400 16x10x124 16x10x100
150-315 16x10x124 16x10x100
150-400 16x10x124 16x10x100
150-500 16x10x124 16x10x100 AISI 304
200-315 16x10x154 16x10x100
200-400 16x10x154 16x10x100
200-500 16x10x180 18x11x135 AlSI 316
250-400 16x10x180 18x11x135
250-315 16x10x200 18x11x135
250-500 16x10x200 18x11x135
350-400 20x12x205 20x12x135

Key material AISI 304 and AlSI 316 are optional.

Studs for SPLT and SPLT.M

od

MAS |DAF

Mas Grup

Pump Stud for Casing Stud for Gland Material
Type D al|lb L d al|lb L
65-250 |M12 | 15| 20| 55 | M10 | 25| 15| 65
80-250 | M14 | 20 [ 25| 70 | M12 |25 [ 15| 70
80-360 | M14 | 20 [ 25| 70 | M12 |25 [ 15| 70
100-250 | M14 [ 20 | 25| 75 | M12 [ 25 [ 15| 70
100-315 | M14 | 20 | 30 | 65 | M14 | 30 | 20 | 80
125-400 | M20 | 35|30 | 95 | M14 [ 30 |25 [ 130 | C22B
150-315 | M20 | 35 [ 30 | 95 | M14 | 30 | 25 | 130
150-400 | M20 | 35 [ 30 | 95 | M14 | 30 | 25 | 130
150-500 | M20 | 35 | 30 | 95 | M14 | 30 | 25 | 130 | AlSI 304
200-315 | M20 [ 30 [ 30 | 95 | M14 | 30 | 25 | 130
200-400 | M20 | 40 | 30 | 95 | M14 | 30 | 25 | 130 | 5 /51346
200-500 | M20 [ 40 [ 30 | 95 | M16 | 35 | 30 | 130
250-400 | M20 [ 40 [ 30 | 95 | M16 | 35 | 30 | 130
250-315 | M20 [ 40 [ 30 | 95 | M16 | 35 | 30 | 130
250-500 | M24 [ 40 [ 30 | 95 | M16 | 35 | 30 | 130
350-400 | M27 | 40 | 30 | 110 | M20 | 35 | 30 | 130

Stud material AISI 304 and AISI 316 are optional.

12

Note: Since there is no gland for SPLT.M, SPLT.M type does not contain stud for gland.



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

Technical Data

Gland for SPLT

MAS

DAF

Mas Grup

Bolts for SPLT and SPLT.M (DIN 931)

/]
[a) ii(:ﬂg
L
_g’ I
oA | OB [ D E F oG .
PUmP TYPe | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | Material
65-250 37 47 19 88 15 34 15
80-250 555 | 75 19 115 16 35 14
80-360 555 | 75 19 115 16 35 14
100-250 555 | 75 19 115 16 35 14
100-315 555 | 89 31 145 20 51 16
125-400 65,5 | 106 30 155 22 52 16| buctile Iron
150-315 78,5 | 106 30 155 22 52 16 GGG 40
150-400 78,5 | 106 30 155 22 52 16
150-500 785 | 106 30 155 22 52 16 Bronze
200-315 78,5 | 106 30 155 22 52 16 | G-CuSn 10
200-400 785 | 106 30 155 22 52 16
200-500 785 | 106 30 170 | 22,5 | 52,5 18
250-400 885 | 116 30 170 | 22,5 | 52,5 18
250-315 885 | 116 30 170 | 22,5 | 52,5 18
250-500 885 | 116 30 170 | 22,5 | 52,5 18
350-400 103 | 140 30 185 24 54 23
Bearing Bearing
PumpType Cover Qnty. | Housing | Qnty. | Material
Bolt Bolt
65-250 M6x20 8 M10x30 8
80-250 M8x30 8 M10x35 8
80-360 M8x30 8 M10x35 8
100-250 M8x30 8 M10x35 8
100-315 M10x30 8 M10x35 8
125-400 M10x85 8 M12x45 8 C228B
150-315 M10x85 8 M12x45 8
150-400 M10x85 8 M12x45 8
150-500 M10x85 8 M12x45 8 AISI 304
200-315 M10x85 8 M12x45 8
200-400 M10x85 8 M12x45 8 AISI 316
200-500 M10x85 12 M12x45 16
250-400 M10x85 12 M12x45 16
250-315 M10x85 12 M12x45 16
250-500 M10x85 12 M12x45 16
350-400 M12x115 16 M16x60 16

13




SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump

Technical Data

Plugs, Greaser and Adjusting Taps for SPLT and SPLT.M Pumps

Pump
Type

Casing
Plug

Qnty.

Bearing
Housing
Plug

Qnty.

Material

65-250

80-250

80-360

100-250

100-315

125-400

150-315

150-400

150-500

200-315

200-400

200-500

250-400

250-315

250-500

350-400

1

2

R %

R 1%

R 3/8”

Ms 58

Pump
Type

Adjusting
Taps

Qnty.

Flange
Plug

Qnty.

Material

65-250

80-250

80-360

100-250

100-315

125-400

150-315

150-400

150-500

200-315

200-400

200-500

250-400

250-315

250-500

350-400

R 3/8”

R 3/8”

R1/2

Ms 58

14

Mas Grup




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump m m

Performance Range SPLT 65-250 Mas Grup
Curve No:625.a.4P Curve No:625.a.2P
(#as |DAF] 50 [m4s |DAF| 50
MAS GRUP SPLT 65-250 1450 RPM Hz. MAS GRUP SPLT 65-250 2980 RPM Hz.
Q-CAPACITY - [Vsn) Q- CAPACITY - (Ifsn)
0 ; 0 15 2 % J 0 0 2 0 1 % 6
! |
R 26 LDTT [loultan] [ so lggl 1] | K g 0 5055 5 I
E 646 £ 668.4
o na 7\53 T ke 2400 &
a —233p a
ﬁ 2 60 ﬁ 80 [— 2285 }, 65
I T f &0
p= ‘l- 55 ® = 2108
S P NN 50 E
= ~ N T 60 4
E £ \ 55
== 40 I >(
10 \ \ 40 50
v/‘(
5 20
g 0
g s S &0
£ | 2508 7.5 KW X - 2608 - 55 KW/
1] 1
el !
i T | 2330 - 5.5 KW E 40 /____,...-—— 2405 - 45 KW
= 5 [ WA = / e e 2289 - 37 KW
o 4 ] 0 30 /ﬂn - 30 KW
o /—-— —:-_.___‘___ 203d - 4 KW o / o ____.._-———'_ -]
o ~ 20 '_A_____/“'
0 2= * I —
1
0 0
0 20 40 60 80 100 0 50 100 150 200
Q- CAPACITY - (m3/h) Q - CAPACITY - (m3/h)
- 5 — 10 11T
5 . / 60g E 8 / 260¢
r 3 // T 6 2108 //
2 2 2038 . 2 4 o
E = 2
0 0

15



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

Performance Range

SPLT 80-360

SPLT 80-250

Curve No:825.a.4P

50
Hz.

MAS GRUP 1450 RPM
Q- CAPACITY- ()
0 1‘0 2? JID
30 AR
o 2788 == 50 60 |g5
- 70 4
E \ 713
~ 25 AT
2 = 2499 J 7L_>\ 55
L P
—= 20
s FREHAT —‘J—-L'q\%x \
S
h
E 15 \K N,
10 .
5
0
= 12
£ 2788 - 11 KW
1] / |
o |
% g 2495 7.5 KW
2 6 /—-—_’——-—'/
& oa za e e 276 - 55 KW
a b
0
0 20 40 60 80 100 120
Q- CAPACITY - (m3/h)
g4 226w 7‘27'&
T 3 // -
% 2 -7/
o
= 1
0

16

MAS

DAF

Mas

Grup

Mas DAF]

MAS GRUP

SPLT 80-250

Curve No:825.a.2P

2980 RPM

50
Hz.

0 1‘0

20 30
1 l

40
1

Q- CAPACITY - [sn)
50 60

120

b= 2780 ———

\
|
40 5055

b0

| 265¢

100

=77

65 67

§7.7
MT

- 224 e |

g0 e 2309

%

65
a3

| 2208 e ]

60

Hm - Total HEAD - (m)

40

20

100

80

60

[t

278¢ - 90 KW
2659 -

75 Kw

/7/ 2449 - 55 KW
o] - 2308 - 45 KW,

P2 - POWER - (KW)

e 2205 - 37 KW

100

Q - CAPACITY - (m3/h)

150 200

278¢

T
220 ¢

™

—

NPSH - (m)
CANUATTONXWO




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump m m]
Performance Range SPLT 80-360 Mas Grup

!m m Curve No:840.a.4P 50 m Curve No:840.a.2P 50
MAS GRUP SPLT 80-360 1460 RPM Hz. MAS GRUP | SPLT 80-360 2980 RPM Hz.
Q- CAPACITY- Wsn) Q- CAPACITY - (Fen)
0 10 2 3 40 0 1 2 0 “ 5 80 70 0 %
‘ 200 ‘L
L 360a L 20 M0 50| g L S L 4045 T80 e
— 60 g _ 58
E 40l=344a J [Tt 61.9 E 3440 — 595
: 61 H 58
E — 322 = a0 2 150 {— 3245 7\
4 b 2 “
55 I
3 % 3 3060 £y
° | 2904 = \ 50 =] b— 2880
= >\ =
E | 2620 \ § £ 100 j= 2758 NARAIAN . J
E - T '1“'~L._ >/
A
40 50
10 \\/
N 30
22 . |
g g 200 |
< L~ 3604 - 22 KW| X 3604 - 200 KW
: 20 S " L] : : 2 /
x | ™t 3445 - 18.5 KW @ 150 | 3449 - 160 KW
E - s = 3229 - 15 |<W—1 E //— 3248 —wfz Kw
S ;//__,.——__-—' | S 100 L A - 3060 - 132 KW
10 man: e 2909 - 1T KW~ I 2680 - 110 KW
. /‘/ Lt H | ' ﬁ/ﬁﬁ_‘- 275 - 90 KW
N 5 -’:"':____,--""'_'._——-—'—'— rphant i S 5 e
m——— | 1
0 i 0 |
0 20 40 60 80 100 120 140 160 0 50 100 150 200 250 300
Q- CAPACITY - (m3/h) Q - CAPACITY - (m3/h)
12 T
£ 4 ! 3600 £ 10 #3608
T 3 ;243 T 8 275 ¢
1]
T // I 6 e
g ? & 4 RSES cnt|
< 1 Z |
0 0

17



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump
Performance Range

SPLT 100-250

!mm Curve No:1031.a.4P 50
mas crur | SPLT 100-250 1480 RPM Ty
@ CAPACITY - WVen]
0 1‘0 ZLU JIU 4‘0 E‘U 60 7‘[) E‘El
T
\
50 g ‘
e 2949 e 70pe L
= 30 WiREN inuan 80
E 836
= L2800 __._L / { =
Q 25200 # ™80
w
T = 2508 75
s
b LTROKT ]
£ my
I e
x%@g\
70
10 i
5
0
=
g 2944 - 22 KW|
x 15 ZB[I;:q- 18.5 KW
w
= L L2655 - 15 KW
© 10 r/":—:g.ﬁ— 2508 - 11 KW
4 e 2358 - 9 KW
& {."%"—‘—-———220!—75 KW
5 -—-——_
0
0 50 100 150 200 250
Q- CAPACITY - (m3/h)
3 |
£ / 2949
T 2 2208 |
T
7
o 1 RN el
= i
0 1

18

MAS

DAF

Mas Grup
m Curve No:1031.a.2P 50
MAS GRUP | SPLT 100-250 2980 RPM Hz.
Q- CAPACITY - [Ifsn)
0 20 40 50 30 100 120 140 160
140 L 1 | | I | 1 | 1
L 2a4p e 50 (70 5 s[!
£ 120 8636
= |— 2800 e 83
e 100 1= 2658 i N\
w
TR
[}
'2 80 = 2354 - \ N
£ —zznulm\H ><?u
i ‘w%
40 ~
20
0
g
£ 450 e 2944 - 160 KV
1 S
x /__,_..-—zsngqazkw
E 100 A/_____..-—zssn—i]m
(<) et el 250 - 90 KW
. 2350 - 75 KW
___-—-—‘
0 |
0 100 200 300 400 500 600
Q - CAPACITY - (m3/h)
9 ‘
= 8 - 2949
E« ’ 2209 -
5
5 a
L
Z 2 T f :
: J |




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump
Performance Range

SPLT 100-315

[Was DAF]

SPLT 100-315

Curve No:1040.a.4P

50
Hz.

MAS GRUP 1460 RPM
Q- CAPACITY- Wsr]
0 1‘0 2|ﬂ 3‘0 4‘ﬂ 5‘0 60 70 SID
\ i
50 fum 3470 o0 8065 70 75,0
= / / - 799
¥ e 32768 | X
| 75
g 40 / [ !
w | >< 70
= |
= b 2950 i >z5
s
o |— 2809
- 30 =
é L— 2624
T
e 2399
20
\%? 60
i
10
0
g 2 5
3 ! | 3479 - 37 KW
1 1
@ 30 | HAHHH
E ; o Iazm 30 KW
2 2 /,//.—- 2950-22KW_ |
! 2600 - 18.5 KW
. /%9 - 15 KW
: 10-;%%239:11 KW,
] |
0 : -
0 50 100 150 200 250 300
Q - CAPACITY - (m3/h)
_ | 7 347
g 3 } - (]
E 2399
II 2 / //
5 f
Z
0

19

MAS

DAF

Mas Grup

[Was DAF]

SPLT 100-315

Curve No:1040.a.2P

50
Hz.

MAS GRUP 2980 RPM
Q- CAPACITY- (V)
0 2 40 80 0 100 120 10
| Il |
[
oLl 50 B0 g5 79 n
— / 78782
g 150 [ 3078 L F N
. = 3000 — ~L75
2 [
a e 28501 70
w
= =271
E a
) e 25658 —mee
F 100 L\ 65 RN
-
E
I
50
0
g 20
X 2 32l:lm‘725l] KW
1
200 s 3076 - 200 KW—
& e e 3000 - 105 KW
= 150 — ﬁ 285¢ - 160 KW
o 2715 - 132 KW
2 oo /g,_—_/gaqlu [ e —
o~
& 5
0 |
0 100 200 300 400 500
Q - CAPACITY - (m3/h)
10 | |
£ ‘ " 3200
£ 8 256 B -
z ° e
G I
EEm——
= 2
0




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

Performance Range

SPLT 125-400

Curve

No:1245 a 6P

MAS GRUP SPLT 125-400 960 RPM Hz.
Q- CAPACITY-  Wsn)
0 2 40 80 80 100
|
= 50  go
— 30 1508 e 570 75
: my?q
= f / 77
= — 4158 N
E 25
R
= = 3708
S 20
T %@ i
' ~ 3358
E
I 5 \ 8
a S
5
0
= 30
4 2 e 4508 - 30 KW
1]
159 /l_,.—nsu-zzkw
= 393@ - 18.5 KW
Q 15 e —-“:_é;;m—{s KW
o 101 e 33508 - 11 KW_
o e
5
0
0 100 200 300
Q- CAPACITY - (m3/h)
6
E 5 mr // 1508
T 4 ~
I 3 AR
[ ]
% f ——
0

20

MAS

DAF

Mas Grup
@ Curve No:1245 a 4P 50
MAS GRUP SPLT 125-400 1480 RPM Hz.
Q- CAPACITY - Ven)
0 2 40 50 % 100 120 140 160
80
509 — | %0 60 g5 |,
= 70 e 754
= = 4308 —_ 76 75 2
: 75
s 60 = 408g ,7\!\\
w
R TR e
B 50 Wamn N
2 [~ 3486 sl w\& \<\
g 40 . ™
£ \g
30
20
10
123
g 100
x 4505 - 110 KW
o 86 /ﬁug - 90 KW
w Ll |~ 4008 - 75 KW
g o B |
o [ 3795 -55KW |
JO T S /_;4 Mow-aSKW__
B __.—-______..-——“‘ !
0
0 100 200 300 400 500 600
Q- CAPACITY - (m3/h)
12 -
= 10 A 1508
E ]
= : 348 8 T
8, e
< 2
0




SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump

Performance Range

m Curve No:1025.a 6P 50
MAS GRUP SPLT 150-250 960 RPM Hz.
G- CAPACITY-(Fsn)
0 10 20 20 40 50 60 70
| . i 1 | 1 . \ .
|
50 &0
e 27808 ==t 70 75
- 12 r J 8050 4
E |- 2640 -—7}7L #3 80
i [
2 | >\
i “’_zm—.w7/\>< ™~ NI
: e
E N zzanj 7
£ 205 Q( >/
T | \\</<
i N
|
2
0
s 10
X N 3
£ . | | 2780 - 11 KW
x 2648 - 7.5 KW
g /__,4/!
S fm 2435 - 5.5 KW
& 4 ﬁ;ér 2256 - 4 KW
Py e 1= 2059 - 3 KW
n 2 ——-—-""_-—""'":--—-—""‘_-_
[T
0
0 50 100 150 200 250 300
Q- CAPACITY - (m3/h)
£ 3 ] 2789
:'; 2 ! 205 @ =
2 BENS e
B 2
0

21

SPLT 150-250

MAS

DAF

Mas Grup
!mm Curve No:15a.4P 50
MAS GRUP SPLT 150'250 1480 RPM Ty
Q- CAPACITY - (Vsn]
0 2 4 5 8 100 120
b— 2800 | 50 g0 70
— 25 75
£ # 80 I
= 84
— 2590 ———| Py
[a]
W 20 N
I = 2400 —|
S
L 80
. e 2201
& 15 L ~_
= 75
10 ™~
5
0
g = L~ 280g - 30 KW
& /
E 20 ____.-/ e 2599 - 22 KW
AR 240¢ - 18.5 KW
o L 2108
a __—/’:-':_—’——"—-ﬁ.——-zznn 15 KW
§ WET
0
0 100 00
Q- CAPACITY - (m3/h)
E : /// 280g
. 220 @
: 3
U
|
0




SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump
SPLT 150-250

Performance Range

Curve No:15a.2P

mascrup| SPLT 150-250 [2050 RPM  [}i-.
Q- CAPACITY - Wen]
0 5 100 150 20 250
| [
' 50
. 100 T
b 27008 e
§, | 7\' o 82.7
H = 260§ ——— 82
[m] 1
o 80l a5 :ﬁ h"
T - 80
g [ 23]g|—-_. —y
- |
1 60 = 2200 ———t] T -
E 'L"-—A\Q\ 7
T ™
= N
20
0
= 250
< - 2804 - 250 KW
é 200 ______,,——’i 2709 - 200 KW.
5 | " 2604 - 185 KW
£ 150 { e 24w 1GD KW
] IR, e e T e 2339 - 132 KW
B 0o [ e e 11D KW |
E - _-——""____-—-_____'—"'»——"'"
0 |
0 100 200 300 400 500 600 700 800 900
Q-CAPACITY - (m3/h)
14 T 7 T
= 12 | 2800 _
= 10 208 A~
T~ 8
2 6
4
= 2
0

22

Mas Grup




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump m m

Performance Range SPLT 150-315 Mas Grup

im’—m Curve No:1540.a.4P 50 m Curve No:1540.a. 2P 50
MAS GRUP SPLT 150-315 1480 RPM Hz. MAS GRUP SPLT 150-315 2980 RPM Hz.
Q- CAPACITY- Wsn) Q- CAPACITY - Wer)
0 50 100 150 200 0 5 100 150 200 260
1
i 160 J‘
= 3400 a5 gy L 3200 el 5060 g
= 70
E 40 ﬁ\‘\ 1 g5 g 140 114w ‘—-m-._ 75
i — 3208 =l At = f TT LA
E 80.7 2 120 = 2924 \ 78
i b= 3000 _| 75{ w 75
I T = 2750 e
= 30 e N~
.g |— 2864 .| N 75 g 100 = N
k= 70 N —"'“JIE
' ‘ ' 70
E = 2645 E 80 - N q
20 ~{ N Q >‘> ; \kQ o
60 60 N
\)\
10 \< 40
20
0 400
g 60 g
4 — = X 3200 - 355 KW
5 50 S e Ml -85 kW T 300 /_f - 3140 - 315 KW
E 40 /_/ ,___—-—- Jz[llﬂ - 45 Kw E %/. 2924 - 250 KW
— 3008 - 37 KW 200/ - 2750 - 200 KW.__|
o 30 / _/-‘ ‘_______‘—- o) —— e 6 B - 185 KW
o " = 286g - 30 KW o _"___‘,——-—“"___.....——-—_._———-' 8
i e 2590 - 160 KW
P20 e %‘: 649 - 22 KW s ﬁ_————-—-—' [
P e e &' 100
10
0 0
0 100 200 300 400 500 600 700 0 200 400 600 800 1000
Q- CAPACITY - (m3/h) Q- CAPACITY - (m3/h)
- 6 | 14
E s | A 3400 E 1 === 7 3208
T 4 %648 - 12 //
T T
w 3 = 7
o 2 [T
2 3 2
0 0

23



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

Performance Range

(w45 [DAF]

SPLT 150-400

Curve No:1545.a.6P

50
Hz.

MAS GRUP SPLT 150-400 980 RPM
Q- CAPACITY- [Vsn]
0 2 4 8 B 00 120 “
\
I 4508 _75" 60| | |70 | L
= 80
E 30 o T 80.9
a 80
o
E [~ 385¢ 75
I 70
5 I— 3608 \
= 20
é I— 338p —LQ \
S >Eﬂ
10
Y
0
40
g
< e 4503 - 37 KW|
o 30 ——'/_- 4278 - 30 KW
] /,.—""'_—
% 20 e e 3858 - 22 KW
a 7 3609 - 18.5 KW
. e — 3380 - 15 KW
s
0
0 100 200 300 400 500
Q - CAPACITY - (m3/h)
- T
T & 7 1508
Es /zaﬂ s A
I 4
w 3 7
% % Pr e
0

24

MAS

DAF

Mas Grup
mm Curve No:1545.a.4P 50
MAS GRUP SPLT 150-400 1480 RPM Hz.
Q-CAPACITY - [Wsnl
0 50 100 150 200
80 i
= 4509 S50 704
T 703=4358 P80y,
E Tg 816
2 g0 4108 = =i Mo
w
- - — 366 -—._L \@%ﬁ
g ) l h \%\%
-
. I 3454
g 40 o ™~
T \L ( >{\
30
K\
20
10
143
g 120 = 4508 - 132 K\
T 100 e 4358 - 110 KW,
[ i
£ %0 ﬁi’ Sl
T 3865 - 75 KW
8 60 ﬁ/"ﬁﬁ— 3458 - §§ KW
o 40 %ﬁﬂ_—n
o ]
20
0
0 100 200 300 400 500 600 700 800
Q - CAPACITY - (m3/h)
12 - T
£ 10 1 / 4500
£ ! /
| 3459 —
I 5 P2 |
o 4 =
Z 2
0




SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump
SPLT 150-500

Performance Range

Curve No:15a.6P

MAS |DAF

Mas Grup

Curve No:15a.4P

MAS GRUP SPLT 150-500 980 RPM Hz. MAS GRUP SPLT 150-500 1480 RPM Hz.
Q- CAPACITY - [Ysn] Q-CAPACITY - [sn)
0 2 40 & 8 100 120 0 50 100 15
I ‘ T
| 120 |
50 = 5608 e [°" 60 g5 oy L] - 2332 = el B8 k5| 7 = |
: r T
a a
ﬁ 40 1= 5004 70 ﬁ b= 5050 ma i@
T T
= T =] \
5 [ 7L >2 s %0 N\
'2 “ s I 4550 -_.-LL[ 7%%
i = 435 . 65
£ £ &0 N
== 65 I \/\
20
40
10 20
0 0
60
g 5609 - 55 KW g 200 560 - 200 KWy
T 50 D i 5 5530 - 185 KW
E o =TT 5284 - 45 KW & 150 5308 - 160 kW
= /"// - 5009 - 37 KW = ﬂﬂspse -132 KW
Q %0 — "',———""/4-?-2u T e O g0 e Tokw__ |
L ﬁ/‘;’j‘: hidaet Lo ’ﬂ:_‘_"/ ﬁ 4554 - 80 KW
a B e T " HEEE o e g%
10— 8o
frr"
0 0
0 100 200 300 400 0 100 200 300 400 500 600
Q- CAPACITY - (m3/h) Q- CAPACITY - (m3/h)
10 -
g 4 Z ss0a. £ s 7 560a
::T 3 135 8 // ; 6 4554 |
o 2 e 9 4 E
8 , L —
0 0

25




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

Performance Range

SPLT 200-315

Curve No:2040.a. 6P

50
Hz.

MAS GRUP SPLT 200-315 980 RPM
Q-CAPACITY- Wsn)
0 20 40 60 80 100 120 140 160
1 | 1 I I I | 1
|
50
16 60 5
E -
T e — =
-] 78
] = 2945 —l
I 12 75
g SSEEEESAR
& 70
S b= 2678 m—
= 10 ‘ N
PSR s VS
] //'\
. Ny 65
E
| 60
4 ‘
2
2
=
£ 5 e 3289 - 22 KW
b /:_:—___-- 3034 - 18.5 KW
£ s /%ﬁ e 2345 - 15 KW
£ 10 ﬁﬁ—/ 267011 KW
a e 2419 - 7.5 KW
e s
0
0 100 200 300 400 500 600
Q- CAPACITY - (m3/h)
8 7
3 g E / 3280
T 5 2418
T
[ g /’ P
& > P
1 | e———
0 L

26

MAS

DAF

Mas Grup
!mm Curve No:2040.0.4F 50
mas crur | SPLT 200-315  [1480RPM__ [Ha
0 -CAPACITY - [fen)
0 5 100 150 20 20
40 T T T T
| 50 | \ |
— 3289 ~——a] 50 65 o
= ‘ 75
‘E‘ ‘ 78
5 | 79
S s L
T [ 75
x b 286 m—]
S | 70
e [ 2680 ——e
. -l 65
b 2508 ~
. B puaztAL N
60
10
-
90
g a0
< 0 - 3280 - 75 KW,
- |
x 60 ] !
E 50 I ———ZSZG-SSIKW
0 4 — e 2864 - 45 KW
Y S e e [ 2600 I KW |
N e = 2504 - 30 KW T
o 20 f=m===
10
0
0 100 200 300 400 500 600 700 800 900
Q - CAPACITY - (m3/h)
|
E i 7 3260
T 12 // |
z; 1 2508
w 8 £
o 6 =,
Z 4 —
2 p—
0




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump m m

Performance Range SPLT 200-400 Mas Grup
Curve No:2040.a.6P Curve No:2040.a.4P
(M4s [DAF] 50 (M4s [DAF] 50
MAS GRUP SPLT 200-400 980 RPM Hz. MAS GRUP SPLT 200-400 1480 RPM Hz.
Q- CAPACITY - [fsn] Q-CAPACITY -  [fsn)
0 % 100 150 0 50 100 150 200 20
30 {4308 2060|7075 e TS T 7 e
= 83 = [ 83
g.’ | 4038 #;f E 60 f=410g l N[\fo 83
a 2 =] ~{_ 80 [=] l 80
< < b= 3860
W 370y W og "N
E 2 T I -mgj Wk M
2 I— 3434 —.LLL_Q ~ ><?u 2 o AR >(
£ = >
7
\<(’\ - \K
10
20
5 10
0 0
g‘ 50 g‘ |
x 4300 - 45 KW X 150 | e 4304 - 160 KW
== / = T o
1 40 | [ |
& L | 403837 KW 4 ‘x /.—-41u¢~132|<w
E 30 -—/ 3708 - 30 KW E 100 | ,///__--:‘-33“'”“ Kw
o ///‘ ) | &:___ 360p - 90 KW
1) ,//_—/ 3438 - 22 KW, o I %__—-— 3408 - 75 KW
a 10 ﬁ.—-/“_—/ S50 : —
i |
0 0 E
0 100 200 300 400 500 600 700 0 200 400 600 800 1000
Q- CAPACITY - (m3/h) Q - CAPACITY - (m3/h)
6 1 —_ [ 3108
£ 5 /4308 10 ! / 1308
= 4 EZED P E 8 ! / ,/
T 3 P il T 6 A
a 2 e L 4 _// e
Z ] = 2
0 0

27



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump
Performance Range

Curve No:20a.6P

SPLT 200-500

MAS

DAF

Mas Grup

Curve No:20a.4P

MAS GRUP SPLT 200-500 980 RPM Hz. MAS GRUP SPLT 200-500 1490 RPM Hz.
Q- CAPACITY - [(Wsn) Q-CAPACITY - [sn)
0 50 100 150 200 250 1] 100 200 300 400
| - 1 1 | 120 | | 1 1
50 |
=~ 5604 50 gg ey 5608 o 50 l|go :
E |5 hm E 100=s300 mﬁ__-..i.\\ o
A 4055 20 a 250
9 2 = 500p
wi u A
I 75 T 80— 4704 75
s T d6ie 70 = = 454 I \ ™ 70
o 30 ., M, =} L A=
'T ~ 4354 -—L_J\Lz \ [ 4405 m,
E 60 T
: RN : R
20
"\Q a0 ‘;}8\
10 20
0 0
g % S 40
X 100 — 2 X 2
£ e 5602 - 110 KW £ e 5608 - 355 KWW
@ go e 5308 - 30 KW o 300 /7—- 5300 - 315 KW/
w [ 4 5050 - 75 KW w I e — 5008 - 250 KW
% 60 /:_-,_.——‘/-:"-/ % 200 = "—-jvng S200KW_ |
o y [ 64p - 55 KW o e 4544 - 185 KW
Y 40 /// T 435@ - 45 KW = ///ﬁ 4408 - 160 KW
& e o 100
20 e }
0 0 |
0 200 400 600 800 1000 0 200 400 600 800 1000 1200 1400 1600
Q - CAPACITY - (m3/h) Q - CAPACITY - (m3/h)
14
5 i
= 560 = 12 /£ 560
E, 4 435 ¢ / L 5 15 / L
: /s T g 1108
r 3 x
© , o ¥ 6
: = £
1 2
0 0

28




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump m m

Performance Range SPLT 200-670 Mas Grup

Em ’—m Curve No:2060.a.6P 50 m Curve No:2060.a.4P 50

MAS GRUP SPLT 200-670 990 RPM Hz. MAS GRUP SPLT 200-670 1490 RPM Hz.

0 -CAPACITY - [Vsn) Q-CAPACITY - [Vsn)
0 E‘»D ‘!IDG IISO 200 250 3‘{10 0 WIOO ZJDO 3‘00 4{00
| |
70 = 6808 —) S0 60 g5 0. 160 }= 6808 S0 6o 65779775

— e G52 e 78 —_— fmt 65208 78

E 6388 — 79.2 E sk T 797

é 50 78 C'i 140 L S\\ 78

— | 6200 4 28

< e 6005 ——| /8 < l— 6004 -iﬂ*g é‘

o Wl .y
T sol—sns z = 5008 3 ™
B N 70 = e 56208 -it:b $><>Q\ 70
s L 54201 S 100 —) 8

L o —~~ . : N O
T \ I 80 N, <

60
30 60 >(
60
20
40
10 20
n
. 800
g o 580 - 200 KW g o 5805 - 700 KW
< 6 - < L~ 6809 -

T ./GSZa - 185 KW T 600 //- 6526 - 30 KW
@ 150 e 6385 - 160 KW x = 5350 - 550 KW
W s j w 500 /éﬁ 6208 - 500 KW—
= orr 600§ - 132 KW = 500 - 450 KW
O 100 et 5714 - 110 KW o 400 /'_____é?- 580 - 400 KW———
e e 520 - 0 KW 2 300 Eore T 628 - 355 KW
S g | o

[ 100 | i
0 | o L] i
0 200 400 600 800 1000 0 200 400 600 800 1000 1200 1400 1600
Q- CAPACITY - (m3/h) Q - CAPACITY - (m3/h)
10 T
- 5 I P = 5628
6808 680

E . Mo Es .~ “

r 3 Zz z 6 <

g ? et P a4

=z 11r e ] FrY ——

0 0

29



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump
Performance Range

SPLT 250-315

m Curve No:2540.a 6P 50
MAS GRUP SPLT 250-315 980 RPM Hz.
Q- CAPACITY- Wsn)
0 50 100 150 200 250
I
16 -]Ellln:-— 507075 50
— ] 83
E u }[ 77-7\7"\95 85.1
E —3|]4n‘——_. H\/ } 35 5
W 12} 2908 80
3 P TR N
B I~ 2750 >,< 5
e - T~ >< N
' 70
E
I 8
6
4
2
0
g
£ 3300 - 30 KW
1]
o //
E 20 L - 3049 - 22 KW
—l —
o ——____/ Lrortrre ™ et 2805 - 18.5 KW
n- | // -
. st 2758 - 15 KW
~ 1072'—;;;5__--
o
0
0 100 200 300 400 500 600 700 800 900
Q- CAPACITY - (m3/h)
6 T
£ s ‘[ 3300
T 2759 //
5 -
o 2 _—4/
= R
0 I 1

30

MAS

DAF

Mas Grup
![m m Curve No.2540.0.4P 50
mas erup | OPLT 250-315 1480 RPM iy
Q- CAPACITY - Wsr]
0 ‘L”“ 2‘00 3}00 4‘00
B
% T PR g 83
B i Ry
é 30 1= 3024 i "
E /‘ & %
T
s 2760 — i}
]
h
20 ( 1
E
x N (}r/
10
120
g
100 3300 - 110 KW
x EENERES
P 80 __/_______._.31‘7,.90 KW
g e 3028 - 75 KW
g = ____.ﬁ,.__d;-——’f_—ﬁ--;; e
a =776 ‘
o 0 e AR ey
o i B
20
0
0 200 400 600 800 1000 1200 1400
Q - CAPACITY - (m3/h)
E® A 3308 ———
= 8
T 6 276 @ ,/
w
o 4
= 2
0




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump
Performance Range

SPLT 250-400

SPLT 250-400

Curve No:2545.a.6P

50
Hz.

MAS GRUP 980 RPM
Q- CAPACITY - Wsrl
0 100 am 0
[
30 80— 70
- :j:u — 75 B0 |ga !
= |1 7]
E %ﬁi‘n&
" 925 83
9 b= 4074 —. 80
w
I sl 3058 el 75
5 -355u__i z f %%>é>\m
[
. b 3455 e
E 9
I 15— 3200 —4&-._ ?8(
10 Ly
6
100
¥ 80 150g - 90 KW|
~ /
T 440 - 75 KW
['4 /
E o f 4079 - 55 KW
et L i
9 o _,// 385@ - 45 KW
" ——— 365 - 37 kW
o~ //%, 3450 - 30 KW
o 20 ;—g 3204 - 22 KW.
1
0 1 -
0 200 400 600 800 1000 1200
Q - CAPACITY - (m3/h)
7 T
= & / 4500
g b
xr 4 ~
w3 3208 i
2 2 L R
1 e ——
0

31

[#as DAF]

MAS

DAF

Mas Grup

SPLT 250-400

Curve No:2545.a 4P

50
Hz.

MAS GRUP 1480 RPM
0 -CAPACITY - [fen)
0 100 200 0 400 00
| |
70
|— a50p S0 7075 g ts
- 7 85
E gof= 135 T
i 83
a = 4108 8
ﬁ — 400¢
T 50 3p6m 7
] §><< ( > 70
2 |—367s
)
F 40 N
' [ 3459 ~——Laml |
E
I
30 K .
20
10
0
g 300
£ | 4504 - 315 KN
o L~ 4355 - 250 KW
W 200 //ngg - 200 KW.
3 e A00s - 185 KW
o /ﬂr 160 KW
o === 3670 - 132 KW
~ 100/ 3456 - 110 KW.
o
0
0 500 1000 1500 2000
- Q - CAPACITY - (m3/h)
= 12 A~ 450
E it
z ® S
E 6 M5 9 EE s
% ; e
0




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump m m
Performance Range SPLT 250-500 Mas Grup

LTl 9pi 7250500 [osorew 12°|  [HEAELGl SpiT250-500 1300 Rew |20

Q- CAPACITY - fsn) Q-CAPACITY - [Ifsn)
300 400 500

0 100 200 0 100 200 300
50 | | | | | | | |
| 5604 80| | 29 n: L e T R
—_ 80 - b= 5486 == | 80
b 5425 =—y 100 83
E T\?a\u E b 5320 |
» 40l 5.3 ' 8545 »
a = 5150 =] i i 5178 -
< 83 < 83
490p ~— s
% L= 4909 a0 % 80 j=488g . e
= = L~ 464p |
S 30— ~ N\ 2 —452;‘:5 [ b
= l— 4444 —.*L 70 - 70
: ' 60
E £ \ N
»
20 ™ N 60
\</ a0 O
M0 111
20
|
|
0 0 |
s 140 s 500 1
X< 120 560¢ - 132 KWy X | 5604 - 450 KW
¥ 100 5429 - 110 KW T 400 ! ;_.-43;-%0 Kw—
o @ | T 5324 - 355 KW|
E 80 ] sassas 5150490 Kw E 300 /%_— 5176 - 315 KW__|
s T 4305 - 75 KW /
g & e —— 44455 KW 2 200 = . o] CRAUSEEES SES
o aE——  au R ;, e 4528 - 185 KW
& B ope———
20
0 0 i
0 200 400 600 800 1000 1200 1400 0 500 1000 1500 2000
Q- CAPACITY - (m3/h) Q - CAPACITY - (m3/h)
6 T T
= = 10 . / 5608 ————
£ s // 5609 E : —
T4 T 8
a 3 144 :/ s 5 6 452 ¢
- 4 ="
g 2 == g 7 ——
0 0

32



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump m m
Performance Range SPLT 350-400 Mas Grup

!m@ SPLT 350.400 Curve No:2540.a.6P ﬁzo- !m@ SPLT 350-400 Curve No:2540.a.4P 320-

40 1= 3509
— 3300 :Z

30

N
\\ \

MAS GRUP 980 RPM MAS GRUP 1490 RPM
Q- CAPACITY- an) - CAPACITY - Wer)
0 100 200 300 400 50 0 100 200 0 400 500 600 700
| 1 1 | 1 Il | 1
; _
|
|
e 43891 B0l 7p i g0 [ 4380 —~— Y 70 [
T 25 80 g3 T 83
= e 418¢ 85 S == 4150 | 85
. 85.4 5.4
a 85 a N\ a5
< 83 e S TP hn
W o0 303m, o W 3]
w b= 3640 = = 3670 s |
s 75 S
= = 3475 - B
. e 70 .
E E
I I
<

15 1 3275 N
1\ 60
|
10 N !
XN »
A

<k

)

10

=]

= ¥
o
o

e 438m73‘|5K\ﬂ

T i 4384 - 90 KW

(-]
o

\

g g
< <
L] 1
o g
E A-""‘——‘_—— 4|]B’ L ﬁ / == 4154 - 250 KW
- S eeemiEnTt S e e s
a / e 36Ma - A5 KW | o %—:.—-— 3678 - 160 KW
40 1 —
— e 3170 37 KW I . 3500 - 132 KW
a %,_.————— 3276 - 30 KW o e 3304 - 110 KW,
20 —
0
0 500 1000 1500 1000 1500 2000 2500
Q- CAPACITY - (m3/h) Q- CAPACITY - (m3/h)

5 L
E 4 /4380 = g /4380
T, s T s e
I T 4 1
v, 3274 - { @ 3 I LA

—- = 2 -

Z - — 5

0 0 I

33



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

SPLT 350-500

Performance Range

(w45 DAF]

SPLT 350-500

Curve No:35a.6P

50
Hz.

|

MAS GRUP 980 RPM
Q- CAPACITY- Wsn)
0 100 200 300 400 500 600
\
50 L 550 st 7075 Eﬂ‘
82
5 l— 5419 82.8
h=515¢ 8
g 4 N
% = 4980 ﬂ 75
® |— 4708 70
°
™
g N
E
I
20 ~
10
0
E 250
& 5604 - 250 KW
1] |
200 541¢ - 200 KW_—
i / Fe T 5348 - 185 KW
= 150 s 5150 - 160 KW
8 / ’____,_gasu-mzxw
« 1004 e 47065 - 110 KW R
& ‘-/
L g
0
0 1000 1500 2000
=-CAPACITY - (m3/h)
[
‘E : 470 g A~ 5604
T 4 / /
% 3 PR i
o 2 Ll eabt ] fdftert™™
=
1
0

34

MAS

DAF

Mas Grup

m Curve No:35a.4P 50
mas grup | SPLT 350-500 [1400RPM |42
Q- CAPACITY - Vsn]
0 10 200 300 400 S0 600 700 B0 900
- - 1 | ! I
120 U | |
L 660g ] 06070 g |1
o0 |15z
£ == 5436 =— 82.6
~ 100 [ 5308 —= 82
a 5124 80
< [~ 5008 — ]
E e 4935 s 5
- 80— N 70
g 4749 | T
-
o \Y%\ AR
Mo
40
20
0
5 900
= = 560 - 800 KW
t:: e —’/-—-— 5430 - 700 KW
w 600 /,_ 530 - 630 KW-———
= 500 e hie KW
Q 400 e - 450 KW
" e " 4745 - 400 KW
o, 300
o 200
100
ol
0 500 1000 1500 2000 2500 3000
Q - CAPACITY - (m3/h)
12 i =
E L 5608
E 12 1749
T 6 Pt
w |
o 4
< 2
0




SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump

Performance Range

(443 DAF]

m Curve No:5045 a 8P 50
MAS GRUP SPLT 500-500 Hz.
0 20 400 500
20
™ 473@
- 50
E ™ 4568 50 65 A
a ™ 4374 75
ﬁ 15 T M 78
T 78
S
[
E 10
x \
5
0
§‘ 140
< 120 R 473 - 132 KV
L]
@ 100 | e
i
e
= 80 = JESERSEC
o pE——t
o 60}
o a0
20
0
0 1000 2000 30 4000
= Q - CAPACITY - (m3/h)
E ? 4738
¥ 6
:' 5 O il
B 4
a3l e
= 2 T
a 1

SPLT 500-500

MAS |DAF

Mas Grup

Curve No:5045.a.6P

SPLT 500-500 [990 rRPM

50
Hz.

MAS GRUP
Q-CAPACITY - [¥sn]
0 200 00 00 120 100 1600
40
[T asse
g "‘413:\‘
i 70
a T
S sof e st
~—]
£ ™ 4308 79
E ™ 1095 78
=] - 75
. N\
. 70
E 2 . MR N £5
S I
10 N
0
§‘ 400
< | 4953 - 355 KW
1 | e |
x 300 T 4738 - 315 KW
E RS e 570~ 250 KW
0 200} e frepee T 4304 - 200 KW.
o e 4735 - 185 KW
& 100
0
0 3000 4000 5000
Q - CAPACITY - (m3/h)
- 12 4296
E " 495
T 8 Esr s
z s e
o 4 4
H
2
0




SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump
SPLT 500-500

Performance Range

Curve No:5045.a.4P

MAS GRUP SPLT 500-500 1480 RPM Hz.
Q-CAPACITY - (Wsn)
0 500 1000 500 2000
20
= & ;mn
E 0P
9: 70 ::4515 b U 75 e
w 4385
¥ Rl O SOR
= 60| 436
[} {0
E \.L Q% 75
. 50 LD, = N
E
\ \ 60
. RSN
‘Q\\
20
10
n
§‘400
X 200 1950 1200 KW
o 000 e —— 4734 - 1000 KW—
E 800 _____.-—-'-""""_,_...----"'"" 4613 - 900 KW
o o 4389 - 600 KW
2 s00 e 4368 - 700 KW__|
— -
o~ 400
o
200
0
0 1000 2000 3000 4000 5000 6000 7000 8000
Q - CAPACITY - (m3/h)
436 ¢
= 20 ~ 4959
E =2
T 15 ,/
T
2 10 e —— _"‘-
Z 5
0

36

Mas Grup




SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump
Dimension Table for SPLT and SPLT.M

A n

F I 3
* r

| +
w
E 3 []
o -
OMs q
Dimension of SPLT
) Flanges
Pump | 2 tp | e | f |n|n2|H | A|B| G | b |m |m|n|nl|le| 1 |ed
Type DNs | DNd

65250 | A | 100 | 65 | 585 | 260 | 325 | 250 | 115 | 425 | 285 | 225 | 510 | 70 | 240 | 190 | 350 | 275 | 18 | 60 | 28
80-250 125 | 80 | 680 | 300 | 380 | 280 | 140 | 485 | 300 | 275 | 575 | 80 | 234 | 190 | 400 | 330 | 18 | 80 | 35
80360 | B | 125 | 80 | 680 | 300 | 380 | 315 | 135 | 550 | 325 | 275 | 600 | 80 | 134 | 190 | 400 | 330 | 18 | 80 | 35
100-250 150 | 100 | 715 | 315 | 400 | 315 | 155 | 550 | 325 | 275 | 600 | 80 | 270 | 220 | 400 | 330 | 18 | 80 | 35
100-315_| | 150 | 100 | 820 | 350 | 470 | 355 | 145 | 585 | 360 | 320 | 680 | 90 | 290 | 230 | 435 | 350 | 23 | 110 | 45
150-250 200 | 150 | 870 | 375 | 495 | 375 | 175 | 635 | 400 | 325 | 725 | 100 | 340 | 270 | 500 | 400 | 23 | 110 | 45
125-400 150 | 125 | 945 | 415 | 530 | 375 | 175 | 700 | 450 | 400 | 850 | 100 | 370 | 300 | 500 | 400 | 23 | 110 | 55
150-315 200 | 150 | 945 | 415 | 530 | 375 | 175 | 645 | 400 | 350 | 750 | 100 | 370 | 300 | 500 | 400 | 23 | 110 | 55
150-400 |  [200 [ 150 | 045 | 415 | 530 | 400 | 200 | 730 | 475 | 400 | 875 | 100 | 370 | 300 | 500 | 400 | 23 | 110 | 55
150-500 200 | 150 | 945 | 415 | 530 | 450 | 250 | 870 | 550 | 500 | 1050 | 100 | 370 | 300 | 650 | 550 | 23 | 110 | 55
200-315 250 | 200 | 975 | 430 | 545 | 430 | 205 | 730 | 450 | 375 | 825 | 100 | 430 | 360 | 500 | 400 | 23 | 110 | 55
200-400 250 | 200 | 975 | 430 | 545 | 430 | 205 | 790 | 525 | 425 | 950 | 100 | 430 | 360 | 600 | 500 | 23 | 110 | 55
200-500 250 | 200 | 1042 | 447 | 595 | 475 | 220 | 870 | 550 | 500 | 1050 | 100 | 460 | 390 | 650 | 550 | 28 | 140 | 65
250-315 | _ [ 300 | 250 | 1062 | 457 | 605 | 500 | 225 | 860 | 525 | 450 | 975 | 100 | 480 | 410 | 650 | 550 | 28 | 140 | 65
250-400 300 | 250 | 1042 | 457 | 595 | 500 | 225 | 865 | 550 | 450 | 1000 | 100 | 460 | 390 | 650 | 550 | 28 | 140 | 65
250-500 300 | 250 | 1062 | 457 | 605 | 525 | 240 | 945 | 600 | 500 | 1100 | 100 | 480 | 410 | 650 | 550 | 28 | 140 | 65
350-400 400 | 350 | 1290 | 570 | 720 | 610 | 295 | 1010 | 600 | 500 | 1100 | 150 | 600 | 500 | 750 | 600 | 28 | 140 | 75
350-500 | F | 400 | 350 | 1290 | 570 | 720 | 630 | 315 | 1055 | 650 | 550 | 1200 | 150 | 600 | 500 | 800 | 650 | 28 | 140 | 75
500-500 500 | 500 | 1538 | 604 | 844 | 760 | 370 | 1280 | 750 | 600 | 1350 | 150 | 700 | 600 | 800 | 650 | 28 | 140 | 75

Dimension of SPLT.M

Note: SPLT is soft packing design. However, SPLT.M is compact design and only mechanical seal application is
possible. All dimensions are in millimeters.

Flanges
Pump @
= Lp e f h1 h2 Hp A B G b m1 m2 n1 n2 gs | ad
Type |5 | DNs | DNd

65-250 A 100 65 455 | 195 | 260 | 250 | 115 | 425 | 285 | 225 | 510 70 | 240 | 190 | 350 | 275 | 18 | 60 28
80-250 125 80 507 | 212 | 295 | 280 | 140 | 485 | 300 | 275 | 575 80 | 234 | 190 | 400 | 330 | 18 | 80 32
80-360 B 125 80 507 | 212 | 295 | 315 | 135 | 550 | 325 | 275 | 600 80 | 234 | 190 | 400 | 330 | 18 | 80 32
100-250 150 | 100 545 | 230 | 315 | 315 | 155 | 550 | 325 | 275 | 600 80 | 270 | 220 | 400 | 330 | 18 | 80 32
100-315 c 150 | 100 615 | 260 | 355 | 355 | 145 | 585 | 360 | 320 | 680 90 | 290 | 230 | 435 | 350 | 23 | 110 | 40
150-250 200 | 150 665 | 285 | 380 | 375 | 175 | 635 | 400 | 325 | 725 | 100 | 340 | 270 | 500 | 400 | 23 | 110 | 40
125-400 150 | 125 696 | 300 | 396 | 375 | 175 | 700 | 450 | 400 | 850 | 100 | 370 | 300 | 500 | 400 | 23 | 110 | 50
150-315 200 | 150 696 | 300 | 396 | 375 | 175 | 645 | 400 | 350 | 750 | 100 | 370 | 300 | 500 | 400 | 23 | 110 | 50
150-400 D 200 | 150 696 | 300 | 396 | 400 | 200 | 730 | 475 | 400 | 875 | 100 | 370 | 300 | 500 | 400 | 23 | 110 | 50
150-500 200 | 150 696 | 300 | 396 | 450 | 250 | 870 | 550 | 500 | 1050 | 100 | 370 | 300 | 650 | 550 | 23 | 110 | 50
200-315 250 | 200 725 | 315 | 410 | 430 | 205 | 730 | 450 | 375 | 825 | 100 | 430 | 360 | 500 | 400 | 23 | 110 | 50
200-400 250 | 200 725 | 315 | 410 | 430 | 205 | 790 | 525 | 425 | 950 | 100 | 430 | 360 | 600 | 500 | 23 | 110 | 50
200-500 250 | 200 822 | 337 | 485 | 475 | 220 | 870 | 550 | 500 | 1050 | 100 | 460 | 390 | 650 | 550 | 28 | 140 | 60
250-315 E 300 | 250 842 | 347 | 495 | 500 | 225 | 860 | 525 | 450 | 975 | 100 | 480 | 410 | 650 | 550 | 28 | 140 | 60
250-400 300 | 250 822 | 337 | 485 | 500 | 225 | 865 | 550 | 450 | 1000 | 100 | 460 | 390 | 650 | 550 | 28 | 140 | 60
250-500 300 | 250 842 | 347 | 495 | 525 | 240 | 945 | 600 | 500 | 1100 | 100 | 480 | 410 | 650 | 550 | 28 | 140 | 60
350-400 F 400 | 350 | 1000 | 435 | 565 | 610 | 295 | 1010 | 600 | 500 | 1100 | 150 | 600 | 500 | 750 | 600 | 28 | 140 | 75

37



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

SPLT - Exploded View

MAS |DAF

Mas Grup

PART LIST

PART PART PART PART
NO NAME NO NAME
01 Casing Lower Part 201 Roller Bearing
02 Casing Upper Part 210 Key for Impeller
05 Wear Ring 211 Key for Coupling
20 Impeller 220 Oil Seal
30 Bearing Housing 240 Soft Packing
34 Bearing Cover (Dead Side) 260 Plug
35 Bearing Cover (Motor Side) 270 Greaser
36 Bearing Housing Cover 276 Adjusting Tap
50 Stuffing Box 300 Casing Stud
54 Gland 301 Stud for Gland
56 Lantern Ring 320 Hexagonal Bolt
60 Pump Shaft 321 Bolt
70 Seal Sleeve 360 Nut for Casing Stud
72 Ring 361 Nut for Gland
73 Space Sleeve 363 Washer for Bearing
74 Nut for Bearing 400 O-Ring (Stuffing Box)
88 Water Thrower 401 O-Ring (Shaft Sleeve)
200 Ball Bearing

38




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

SPLT.M - Exploded View

MAS |DAF

Mas Grup

PART LIST
PART PART PART PART
NO NAME NO NAME
01 Casing Lower Part 200 Ball Bearing
02 Casing Upper Part 201 Roller Bearing
05 Wear Ring 210 Key for Impeller
25 Impeller 211 Key for Coupling
30 Bearing Housing 220 Qil Seal
34 Bearing Housing Cover 250 Mechanical Seal Ring
35 Bearing Cover (Dead Side) 251 Mechanical Seal
50 Stuffing Box 260 Plug
60 Pump Shaft 270 Greaser
74 Nut for Bearing 276 Adjusting Tap
75 Space Sleeve 300 Casing Stud
88 Water Thrower 400 O-Ring (Stuffing Box)

39




Head Office / Service Center:
Aydinli Mah. Birlik OSB. 1.No’lu Cadde No:17 Tuzla - ISTANBUL / TURKEY
Tel: +90 (216) 456 47 00 pbx Fax: +90 (216) 455 14 24

) Ankara Regional Directorate:
Asagi Ovecler Mah. 1329 Sok. No:6/9 Ovecler ANKARA / TURKEY
Tel: +90 (312) 472 81 60-67 Fax: +90 (312) 472 82 51

Factory: )
1. Organize Sanayi Bolgesi Parsel 249/5 Beykdy - DUZCE / TURKEY
Tel: +90 (380) 553 73 88 Fax: +90 (380) 553 71 29

www.masgrup.com info@masgrup.com



